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Převody jednotek délky



Převody=jednotek=délky

1=m 1=dm 1=cm 1=mm1=km

·1=000 ·10 ·10 ·10

:1=000 :10 :10 :10
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Násobné=předpony:=

d=-=deci======10=dm===1=m
c=-=centi=====100=cm===1=m
m=-=mili=====1=000=mm===1=m=

Dílčí=předpony:
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Převody jednotek hmotnosti



Převodycjednotekchmotnosti

1cg 1cmg1ckg

·1c000

:1c000

Vysvětlivky:cccccccc

-czákladnícjednotkachmotnostikgcpkilogramDc
tcptunaDc
qcpmetrickýccent,cmetrákD

Použitécjednotky:c
dac-cdekacccc1cdagc=c10cg
kc-ckiloccccccc1ckgc=c1c000cg
c

Násobnécpředpony:c
mc-cmiliccccc1c000cmgc=c1cgc
Dílčícpředpony:

1cdag

·1c000

:1c000

1ct

·1c000

:1c000

1cq

·10

:10

·100

:100
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